Chapter 13

EXERCISE 13-2 (10-15 minutes)

The following items would be classified as intangible assets:

Cable television franchises

Customer lists

Music copyrights



Covenants not to compete

Goodwill





Brand names

Film contract rights



Organization cost

An intangible for customer lists usually results from a company purchasing a list form another party. If the list is created internally and costs can be specifically identified with creating the list internally, these costs would be classified as an intangible asset.

A covenant not to compete may arise when a company pays another company a fee to insure that the company does not compete in a given area.

Cash, accounts receivable, notes receivable, and prepaid expenses would be classified as current assets.

Property, plant, and equipment, and land would be classified as non-current assets in the tangible property, plant, and equipment section.

Leasehold improvements are generally shown in the tangible property, plant, and equipment section, although some accountants classify them as intangible assets. The rationale for intangible asset treatment is that the improvements revert to the lessor at the end of the lease and therefore are more of a right than a tangible asset.

Investments in affiliated companies would be classified as part of the investments section of the balance sheet.

Research and development costs would be classified as an operating expense.

Discount on notes payable is shown as a deduction from the related notes payable on the balance sheet.

EXERCISE 13-4 (15-20 minutes)

1. Torrens should report the patent at $600,000 (net of $400,000 accumulated amortization) on the balance sheet. The calculatation of accumulated amortization is as follows.

	Amortization for 2000 and 2001: 

       ($1,000,000/10) X 2
	$200,000

	2002 amortization: 

       ($1,000,000 – $200,000) ( (6–2)
	  200,000

	Accumulated amortization, 12/31/02
	$400,000


2. Torrens should amortize the franchise over 25 years, the period of identifiable cash flows. Even though the franchise is perpetual the company believes it will generate future economic benefits for only 60 years. The amount of amortization on the franchise for the year ended December 31, 2002, is $16,000: ($400,000/25).

3. The organization costs would be fully written off by December 31, 2002 since the costs are amortized over 5 years. The year ended December 31, 2002 would be the fifth year of amortization. 

EXERCISE 13-6 (15-20 minutes)

	Patents

	350,000
	

	Goodwill

	360,000
	

	Franchise

	450,000
	

	Copyright

	156,000
	

	Research and Development Expense

	215,000
	

	
Intangible Assets

	
	1,531,000

	
	
	

	Amortization Expense

	79,250
	

	
Patents ($350,000/8)

	
	43,750

	
Franchise ($450,000/10 X 6/12)

	
	22,500

	
Copyright ($156,000/5 X 5/12)

	
	13,000


Exercise 13-6 cont.

Balance of Intangible Assets as of December 31, 2002



Patents =

$350,000 – $43,750 = $306,250



Franchise = 
$450,000 – $22,500 = $427,500



Copyright = 
$156,000 – $13,000 = $143,000



Goodwill =

$360,000

EXERCISE 13-9 (10-15 minutes)

	(a)
	Legal fees in connection with organization
	
	

	
	   of the corporation
	
	$15,000

	
	Costs of meetings of incorporators to discuss
	
	

	
	   organizational activities
	
	7,000

	
	Provincial filing fees to incorporate
	
	    1,000

	
	Total organization costs
	
	$23,000


Improvements to leased offices prior to occupancy, $25,000, should be classified as leasehold improvements rather than as organization costs.

	(b)
	Organization Costs

	23,000
	

	
	Leasehold Improvements

	25,000
	

	
	
Cash (Payables)

	
	48,000


EXERCISE 13-10 (15-20 minutes)

	(a)                                          Carter Corp.

	INTANGIBLES SECTION OF BALANCE SHEET

	December 31, 2003

	Patent, net of accumulated amortization 

     of $560,000 (Schedule 1)
	
	
$1,440,000

	Franchise, net of accumulated amortization 

     of $48,000 (Schedule 2)
	

	   
     432,000

	Total intangibles
	
	$1,872,000


	Schedule 1:  Calculatation of Patent from Gerald Inc.

	Cost of patent at date of purchase
	
	$2,000,000

	Amortization of patent for 2002 ($2,000,000/10 yrs)
	
	   (200,000)

	
	
	1,800,000

	Amortization of patent for 2003 ($1,800,000/5 yrs)
	
	   (360,000)

	Patent balance
	
	$1,440,000

	
	
	

	Schedule 2:  Calculatation of Franchise from Reagan Ltd.

	Cost of franchise at date of purchase
	
	$   480,000

	Amortization of franchise for 2003 ($480,000 ( 10)
	
	     (48,000)

	Franchise balance
	
	$   432,000


	(b)                                       Carter Corp.

	Income Statement Effect

	For the year ended December 31, 2003

	Patent from Gerald Inc.:
	
	

	
Amortization of patent for 2003
	
	

	
   ($1,800,000 ( 5 years)
	
	$360,000

	Franchise from Reagan Ltd.:
	
	

	
Amortization of franchise for 2003
	
	

	
   ($480,000 ( 10)
	$  48,000
	

	
Payment to Reagan Ltd.
	
	

	
   ($2,500,000 X 5%)
	  125,000
	173,000

	Research and development costs
	
	  433,000

	
Total charged against income
	
	$966,000


EXERCISE 13-13 (15-20 minutes)

	Net assets of Zweifel as reported
	
	$225,000

	Adjustments to fair value
	
	

	
Increase in land value
	30,000
	

	
Decrease in equipment value
	   (5,000)
	   25,000

	Net assets of Zweifel at fair value
	
	250,000

	Selling price
	
	  350,000

	Amount of goodwill to be recorded
	
	$100,000


The journal entry to record this transaction is as follows:

	Cash
	100,000
	

	Land
	100,000
	

	Building
	200,000
	

	Equipment
	170,000
	

	Copyright
	30,000
	

	Goodwill
	100,000
	

	
Accounts Payable
	
	50,000

	
Long-term Notes Payable
	
	300,000

	
Cash

	
	350,000


EXERCISE 13-19 (10-15 minutes)

	Amortization of equipment acquired that will have
	

	   alternate uses in future research and development
	

	   projects over the next 5 years ($280,000 ( 5)
	$  56,000

	Materials consumed in research projects
	59,000

	Consulting fees paid to outsiders for research and 
	

	   development projects ($100,000 – 4,500)
	95,500

	Personnel costs of persons involved in research and
	

	   development projects
	128,000

	Indirect costs reasonably allocable to research and
	

	   development projects
	    50,000

	
Total to be expensed in 2002 for research and
	

	
   development
	$388,500


*EXERCISE 13-23 (10-15 minutes)

(a) Purchase price of Alberta Company:

	Annual earnings
	=
	$120,000
	= $480,000

	Rate of return
	
	.25
	


	(b)
	Total purchase price
	
	$480,000

	
	Fair value of net identifiable assets
	
	

	
	   ($720,000 – $380,000)
	
	 (340,000)

	
	Allocated to goodwill
	
	$140,000


